Define: Structuralist/dependency theory

-What is the “Development Gap”  and how does a structuralist theory explain it?

What are the Five job sectors?  What types of jobs fall into each category?  Give two examples for each.

What is a LDC?  What is a MDC?  How can you tell the difference between them?

What is the HDI and what four factors (in three main categories… what are they) are involved in creating it?

What is GDP?  What is GDP per capita?  What does it tell us about a country?  Can it be misleading?

What is Foreign Direct Investment?

What is Purchasing Power Parity?  What do we usually use as an example of it?

What is inflation?

What is the main job sector jobs are in LDCs?  What is the smallest job sector jobs in LDCs?  What is the main job sector jobs are in MDCs?  What is the smallest job sector jobs in MDCs?  What does this suggest?  
Who are the Asian Tigers?

What is the Core/Periphery?

What is the informal sector and why does it exist?
Describe Rostow’s model?  What is the model called?  How many stages are involved?  What are they?

What are Structural adjustment programs?

What are the major theories of development? (from the HGIA book)

What is agglomeration?

List the world regions from highest HDI to lowest HDI?
What is a transnational corporation?  Would they be more likely to supply milk or power?

In Latin America/China, data for unemployment may be skewed because of the informal sector.  Explain.
For each region of the world, based on what you know about their economies, list what the main job sector would be.
Describe the development gap.  How has it changed over the years?

What is the North South divide?  What does it mean?

Pre-industrial phases of a country will rely on what type of job sector/activities?

Why might a country rank low on economics but high on human welfare?  Where would you find these countries?  Give 3 examples.
Why might a country rank high on economics but low on human welfare?  Where would you find these countries?  Give 3 examples.

What is the result of a country investing too much money on human welfare programs and not on economic production?
What is a command economy (think COMMunism)?  What is a free market economy (think USA)?  How does China and India relate to these concepts?
What is a Special Economic Zone?

What is a Special Administrative District?

What is productivity?  Are people in MDCs or LDCs more productive?  Why?

What distinguishes Western Europe from Anglo-America?

What is Japan’s principal asset for promoting development?

What are the principal assets for the Four Asian Dragons?

What is the International trade approach?  How does it compare with the Self-sufficiency model?  Which is more successful?

In the Middle East, where are petroleum reserves clustered (pg. 313 and 323)?
What single industry has the Cote D’Ivoire depended on most?
Why are Sub-Saharan development prospects limited (pg. 314-315)?

What type of model of development has India and China switched to?  What model did they use?
What are characteristics of LDCs?  What are characteristics of MDCs?

How do geographers define “development”?

List the More Developed and Less Developed regions of the world.

The gross domestic product is the annual value of __________ and ___________ produced in a country.

A country that has a per capita GDP of less than $1000 probably indicates a _________ developed country.

Why is per capita GDP NOT a good indicator of the distribution of wealth within a country?

The difference in per capita GDP between more developed and less developed countries is _____________.

Name the 3 categories that all jobs fall into AND give at least 3 examples of each.

Less developed countries usually have a highest percentage of workers in the ___________ sector, while more developed countries have the highest percentage of workers in the _____________ sector.

People are more productive in MDCs because they have access to ___________________________.

The value of a product minus the cost of _____________________ and ___________ is called value added.

Why is the ownership of consumer goods like telephones, televisions, and motor vehicles usually a reliable measure to determine whether or not a country is more or less developed? 

Describe the economic relationship between European states and their former colonies. 

Which is a better indicator of development…the crude birth rate or crude death rate?  Explain
